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306fz | Rk {8 44 | 46 90 | 15.6| 74.4]| 3764 | HiE FREE 43 | 56 99 | 24.0] 75.0]| 446GL |4 =% 44 | 46 90 | 14.4| 75.6]|| 516f | &M &K 54 | 50 04 127.6] 76.4
3074 | /DHA Tk 41| 43 84| 9.6 74.4| 3774 |y #asE 45 | 41 86 | 10.8] 75.2| 44741 [ 35) &S 47 | 49 96 | 20.4| 75.6| 51741 | Hhig ¥ B N 46 | 69.6] 76.4
3084 [ 52 | 56| 108 |33.6| 74.4| 378fi | &kik B 51 | 47 98 | 22.8] 75.2 4481 | = —Z 46 | 50 96 | 20.4] 75.6] 518% | KRR FIFE 54 | 50 04 | 27.6] 76.4
309f% | 4 3RE 39 | 45 84| 9.6| 74.4] 379%i | B KA 45 | 4 86 | 10.8] 75.2| 44961 |HFE #HA 43 | 47 90 | 14.4] 75.6]|| 51941 | % = 56 | 54 10 [ 33.6| 76.4
3106 | A w2 Al 48 | 54| 102 | 27.6| 74.4 380%iL | ALl ==ffE 47 | 45 92 116.8] 75.2]| 450 | luA BHE 43 1 471 90 | 14.4] 75.6]] 520fi |FA mE 53 | 51 04 127.6] 76.4
114z | #4887 ST RER 44 | 52 96 | 21.6] 74.4 3814 | A%y EHE— 50 | 48 98 | 22.8] 75.2] 451f |7EIE ZRF 45 | 51 96 | 20.4| 75.6| 521HL | Al H1E 44 | 42 86 | 9.6] 76.4
3124 B= 40 | 50 90 | 15.6] 74.4 3824 | #AE  BEST 53 | 51| 104 | 28.8] 75.2[ 452f% | &3k FEEA 38 | 46 84 | 8.4] 75.6]| 522f | & 38 A7 | 45 92 | 15.6] 76.4
3 | BR WE 43 | 53 96 [ 21.6] 74.4]| 383 | KiE EF 52 | 52| 104 [ 28.8] 75.21[ 453fi |#EM =& 50 | 58 | 108 [32.4] 75.6] 523fi |k HER 50 | 48 98 | 21.6] 76.4
4f | R R 48| 60| 108 | 33.6| 74.4| 384%% |RG {#3E 49 | 49 98 | 22.8| 75.2]| 4544% | AR 48 54 | 41 95 | 19.2| 75.8] 524%i |WR F&B 43 | 43 86 | 9.6 76.4
315 | L8 HAmTF 55| 46| 101 126.4] 74.6]| 3854x | K%a [k 42 | 44 86 | 10.8] 75.2|| 455(f | HA mi#k 57 | 50| 107 | 31.2] 75.8|] 525f% |0 E&E 49 | 49 98 | 21.6] 76.4
3166 | B+ =BH 49 | 40 89 [ 14.4] 74.6] 3864 |#kE —Rk 45 | 47 92 [ 16.8] 75.2|[ 456f1 | BFIR 8 48 | 41 89 | 13.2| 75.8]| 5266 | Rk ZEAHI 4 46 92 | 15.6] 76.4
37z | & = 50 | 45 95 [ 20.4] 74.6]| 387HL | Fud: == 41 | 45 86 | 10.8] 75.2]| 4574 | &R —8 50 | 45 95 | 19.2| 75.8] 521fi |[#E&K FX 4 50 98 | 21.6] 76.4
3186L | H H—ER 52 | 49| 101 |26.4| 74.6]| 388fi | &#F % 44 | 48 92 | 16.8] 75.2][ 458f% [ sk 28I 48 | 47 95 | 19.2| 75.8]| 528 | FE— 44 | 48 92 | 15.6] 76.4
3190z | WA = 49| 46| 95]20.4| 74.6| 389%r | ik 1d 47| 51| 98122.8| 75.2] 459 |7 == 48 | 47| 95 [19.2] 75.8]| 529(1 |Eme #F 55 | 61| 116 | 39.6] 76.4
320f | &h ik 52 | 49| 101 |26.4] 74.6] 390fz [AH #Fnk 44 | 48 92 [ 16.8] 75.2]| 460%% | MR 5% 41 | 42 83 | 7.2| 75.8]| H30fL |#Ell TR 43 | 49 92 | 15.6] 76.4
3214 | AHE  Z5h 45 | 44 89 | 14.4] 74.6 3914% | %% o 47 | 51 98 | 22.8] 75.2] 4614L | fkik BF 46 | 49 95 [ 19.2| 75.8]|] 5314r & &= 39 | 47 86 | 9.6] 76.4
322%i | MMMk ER 57| 56 113138.4| 74.6]|| 392f% |E%ZEH A— 56 | 60| 116 | 40.8] 75.2] 462f% [sFFill & 46 | 49 95 [ 19.2] 75.8]| 532 |FHA Fnak 51| 59 | 110 | 33.6] 76.4
323 | ¥ BA 39| 38 771 2.4] 74.6]|] 3936 | \8 == 46 | 52 98 | 22.8| 75.2]|| 463 | BAA A 46 | 49 95 I 75.8] 533 |RE E 44 | 54 98 | 21.6] 76.4
32441 | HH —HB 47 | 48 95 [20. 4] 74.6]| 3944i |[RIE Fm~ 43 | 49 92 | 16.8] 75.2]| 4644 | HBR = 50 | 571 107 | 31. 75.8| 534GL | F FE 52 | 45 97 120.4| 76.6
3250z | Bdt =+ 40 | 43 83| 8.4 74.6]|| 3957 | EiE REE 43 | 49 92 [ 16.8] 75.2]|| 46561 | &F & 50 | 57 [ 107 | 31. 75. 8| 535 A E— 46 | 39 85| 8.4] 76.6
3260 | TR ik 49 | 52| 101 [26.4] 74.6]|| 396f1 |fE&h AEE 49 | 55| 104 | 28.8] 75.2]|| 466fi | fRE =hE 43 | 52 95 [ 19.2| 75.8]|| 536fz | HFE & 57 | 52| 109 | 32.4] 76.6
3271 | A EET 46 | 49 95 |20.4] 74.6]|| 397 |BX —E 42 | 50 92 [ 16.8] 75.2 4674 |RE i 49 | 45 94 | 18.0| 76.0| 5376 |[#MA Z—HR 45 | 40 8 | 8.4] 76.6
32841 | BRI 46 | 49 95 [ 20.4] 74.6]| 398fi | Kk #Fnth 45 | 53 98 | 22.8] 75.2|| 468f% | =& 18 52 | 48| 100 [ 24.0| 76.0]|| 538f% | KiF # 48 | 43 91 | 14.4] 76.6
329% | = E 42 | 47 89 | 14.4| 74.6]|| 399%z | KR = 42 | 50 92 [ 16.8] 75.2|| 469fz | LM #&7 42 | 40 82 | 6.0] 76.0] 5396z |FEAf #FEA 51 | 46 7120.4] 76.6
330fiz | fERAR e 48 | 53| 101 [ 26.4] 74.6]|| 400fL 2 48 | 56 | 104 | 28.8! 75.2| 470f | &HE BEF b4 | 52 06 30.0] 76.0]| 540fi |HE IE 49 | 48 7120.4] 76.6
3314 T #5 48| 531 101 [26.4] 74.6]| 4011 |tERK IE 41 | 51 92 [ 16.8] 75.2|| 47161 |[EH  #hE 54 | 52 06 | 30.0| 76.0] 5416 | TRk & 43 | 42 85 | 8.4| 176.6
3324 | HA WX 41 ] 48 89 | 14.4] 74.6| 4024i |85 k¥ 45 | 40 85| 9.6 75.4 [YRESZS 2] 66 | 64 30 | 54.0] 76.0] b42ff |Fik RE 43 | 42 85| 8.4] 76.6
333% | IR 4B 44 | 51 95 [ 20.4] 74.6]|| 403fr | Fil 54 | 49| 103 | 27.6| 75.4 47362 | WA FndE 50 | 50 00 | 24.0] 76.0] 543f% |AiH =8 48 | 49 97 120.4] 76.6
334z | 5 RZ 38 | 45 83| 8.4 74.6]| 404fz | Al {EE 51| 46 97 | 21.6] 75.4 74 | BE& BE 44 | 44 88 | 12.0| 76.0| b44fii |E sash 45 | 46 91 | 14.4] 76.6
35fi | [RE 82 43 | 52 95 [ 20.4] 74.6| 405{% = X 44 | 4 85| 9.6] 75.4 47502 | K SRR 44 | 44 88 | 12.0| 76.0| 545fic | HP Fufk 48 | 49 97 [ 20.4| 76.6
366z | =iF EX 52 | 61| 113 [38.4[ 74.6] 406f% | #x #HFE] 47 | 44 91 | 15.6] 75.4 47667 | BRE  FnZ 43 | 45 88 | 12.0| 76.0 b46fi | Fi&E Xid 45 | 46 91 | 14.4] 76.6
3 | IUA  [EE 44| 57 101 [26.4] 74.6] 40741 | hE &K 441 4 85| 9.6| 75.4 47707 || B2 491 5 100 | 24.0| 76.0| 5476 |FEHF BB 47 | 50 97 120.4| 76.6
3384 | EEH EH 44 | 38 82| 7.2] 74.8]| 408%iz [Tk & 47 | 44 91 | 15.6] 75.4 47801 | iR Rift 49 | 5 100 | 24.0] 76.0|] 548fiL | KFH EH 53 | 56 | 109 | 32.4] 76.6
3394 | IR IERA 46 | 42 88 [ 13.2] 74.8]|| 409%z | . E Fz 4 | 4 85| 9.6] 75.4| 479%% |f@ih fTHE 42 | 4 88 | 12.0| 76.0|| 549fi [¥3F FIZE 4| 44 85 | 8.4| 76.6
3406z | & 18 48| 46| 94[19.2] 74.8]] 410fi |H.E ¥58t 46 | 45| 91| 15.6] 75.4| 480z | AE &HEH=E 48 | 52 | 100 | 24.0] 76.0|[ 5504 |[AN Al 40 | 45| 85| 8.4] 76.6
41T | FkE = 45 | 43 88 [ 13.2| 74.8| 4114z | =i # 43 | 42 85| 9.6/ 75.4 481461 | B%  Bi— 48 | 52 | 100 | 24.0| 76.0]| 551fz (&L FIE 46 | 51 97 120.4| 76.6
32 | HIL R 50| 50| 100 [25.2| 74.81] 412fi |HO ¥Ed 43| 42| 85| 9.6] 75.4| 482ff [l EX 42| 46| 8812.0] 76.0|| 552fu |[#ME Z=l&F 39 46| 85| 8.4| 76.6
343%r | A BUE 50 | 50| 100 [ 25.2| 74.8| 4134f | K&t &= 46 | 45 91 | 15.6] 75.4| 483 |BEH FEK 50 | 56 | 106 | 30.0] 76.0] 5531 [F 5 39 | 46 85| 8.4] 76.6
3444 | [RER &R 47 | 47 94 [19.2] 74.8|[ 41441 | /b BAF 42 | 43 85| 9.6/ 75.4| 48441 |iTH iz 53 | 59| 112 [36.0] 76.0| 554fi &M 1% 54 | 61| 115]38.4| 76.6
3456 | Tl Eh 40 | 42 82 | 7.2| 74.8]|| 415fi | FEUE SR 45 | 46 91 | 15.6| 75.4] 485G% | fp#t BEZ 40 | 48 88 | 12.0| 76.0]| 5554% |#kEk HFE 41 | 50 91 | 14.4| 76.6
34641 | A #E 46 8 94 [19.2] 74.8]| 4161 |k #0F 51| 52| 103 [ 27.6| 75.4 48661 | TR IGE 431 5 94 [ 18.0| 76.0] 556%% |#Ek U AH 41 ] 50 91 [ 14.4] 76.6
3476 | BERH  RAER 40 | 42 82 | 7.2| 74.8| 4174% |FIE 7 48 | 4 97 121.6] 75.4 4876 | fEF 60| & 111 | 34.8] 76. 5576 | gk EEKEA 47 | 62 09 |32.4] 76.6
48T | B K 43 | 45 88 [ 13.2| 74.8| 418ff [1hO 45 | 46 91 | 15.6] 75.4 48861 | & = 55 | 50 | 105 | 28.8| 76. b68% | HEE BHE 60 | 54 14 | 37.2] 76.8
34967 | Fidp FIK 52 | 54| 106 [ 31.2] 74.8| 4196 | AFH #4 50 | 53| 103 [ 27.6] 75.4] 489%i |#E:F X B 52| 47 99 [ 22.8] 76.2]| 5596 |[HHE —ERB 53 | 49 02 125.2] 76.8
350f [ fEA ERE 46 | 48 94 1 19.2] 74.8]| 420fi | HM HNE 411 44 85| 9.6] 75.4| 490fi | FH =2 571 541 111 | 34. 76.2| 560 | T %08 b3 | 49 02]25.2] 76.8
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BLg-n: * k% ok ok %k * % * K k % MBHE - Ry T7 HDCPE EB: 999.9  HDCPLE #:  999.9
DROE®DE®® OORBDEBD® FTHRIRR @ HIPRZEL HDCPF E8: -99.9 HDCPF #: -99.9

g fi | &SR 79b | 4» |GROSS| HDCP | NET || IE fi | 3fBiE4 79h [ 42 |GROSS| HDCP| NET |[ g i | mB&E# 790 [ 42 |GROSS|HDCP [ NET |[ g f | #iBi&E# | 748 [ 4> [GROSS[HDGP | NET
561 | 5H = 53 | 49 | 102 [ 25.2| 76.8| 631fz |3k ks 51 48 99 [21.6] 77.4]| 701fi | HFH ==—FB 471 611 108 [30.0 78.0| I71fi |EFF = 44 53] 907 [18.0] 79.0
562f | SEIs Sy 55 | 53| 108 | 31.2| 76.8| 6320 |[i% 5 56 | 65 | 111 [33.6] 77.4] 7026 | M4t itked 65 | 71| 126 [ 48.0| 78.0| 772fi [NI.E =] 43| 54 97 [18.0] 79.0
563fi | A#k etk 40 38| 78| 1.2| 76.8] 633% |EXR = 43| 44| 87| 9.6] 77.4| 703f: |[R¥r {4EH 50 | 45| 95 (16.8] 78.2| 773 |[WumE ZE— 48] 61 | 109 [30.0] 79.0
5644 | K4 EZ 52 | 50| 102 | 25.2] 76.8| 634%% | FE ¥ 64 | 65| 129 [ 51.6] 77.4] 704%% |hff s+ 62 | 49 | 101 | 22.8( 78. 21 774f% |HHE {EXER 59 | 49 | 108 [ 28.8] 79.2
5650 | [REH B 58 | 56 | 114 | 37.2| 76.8]| 635f |=M % 46 | 47| 93 |15.6] 77.4| 705fi |mA & 45 | 44| 89 [10.8] 78.2]| 7756 |kRAK 3= 68 | 58 | 126 | 46.8] 79.2
566fL | Kix Am 49 | 47| 96 [ 19.2] 76.8]|] 636f% [ faik 52 | 53| 105 | 27.6] 77.4]| 706fz |fIEp &= 54 | 53 | 107 | 28.8] 78.2]| 776fi | Rk ZFE— 60 | 54 4134.8] 79.2
5671 | (A &am 51 | 51| 102 | 25.2| 76.8| 6374z | /ML #E— 45| 48| 93 | 15.6] 77.4 707z [ift @ 48 | 47| 95 [16.8] 78.2]| 777z [IUA @ac 49 | 471 96 [16.8] 79.2
568 | INT A= 48 | 48| 96| 19.2] 76.8| 638fi |mAt mk 48 | 51 99 [21.6[ 77.4][ 708fi | sk I&TFE 53 | 54 | 107 | 28.8] 78.21| 778fik E— 51 | 51 [ 102 [22.8] 79.2
569 | B3 FUTF 54 | 54| 108 | 31.2| 76.8| 639fi |f@H BX 51| 54| 106 | 27.6] 77.4]| 709fi |h#t &Exk 50 | 51| 101 [22.8] 78.2] 779fi |AQ M@= 46 | 50 | 96 [16.8] 79.2
5707 | JIIE_ 3851% 48 | 48| 96 19.2| 76.8| 640fi | kR 4T 61| 68| 129 [ 51.6] 77.4|| 710f |m % 49 | 52 | 101 | 22.8] 78.2]| 780fic i 55 | 59 | 114 | 34.8] 79.2
5711z | il =B 471 49 96 | 19.2( 76.8| 641fz | #ElE [&HE 55 | 62 | 117 39.6] 77.4| T(1fz |ftA =4 51 | 56 | 107 [ 28.8] 78.2]| 781fz | &I & 44| 52| 96 [ 16.8] 79.2
572 | A4t & 50 | 52 | 102 | 25.2| 76.8] 642fi | =M RBIE 46 | 53| 99 | 21.6] 77.4| Ti2fz |fEE 5o 44| 51| 95|16.8] 78.2| 182k | &= & 56 | 64 | 120 [ 40.8] 79.2
573 | sFlll %% 40 | 44| 84| 7.2| 76.8| 643f% |gEmE EAiE 48 | 57| 105 | 27.6] 77.4] T13fi |EX 3= 44 | 51| 95 |16.8] 78.2][ 783fi |fER M= 65 | 73| 138 |58.8| 79.2
574f% | fafm EfE 46 | 50 | 96 ] 19.2| 76.8| 644fi | FrH hE 44 | 55| 99 | 21.6[ 77.4 7144 |¥AFR Zh#H 53 | 60 | 113 [34.8[ 78.2| 784 |f2H m-F 48 | 60 | 108 [ 28.8] 79.2
575 | R #%Eh 40 | 44| 84| 7.2| 76.8| 645 |FrE e 44 | 55| 99 | 21.6[ 77.4| TI5{ [HEK & 55 | 45 [ 100 | 21.6| 78.4 ] 785f |MadE Zw 59 | 48 [ 107 [ 27.6] 79.4
576 | &F =ik 47 | 55| 102 [ 25.2| 76.8| 646fi | %% 63 | 53 | 116 [38.4] 77.6| 7166 | =k i=% 54 | 46 [ 100 [ 21.6| 78.4] 786fi |;hEH s=dv 61 | 58 | 119 [39.6] 79.4
5771z | P53k fhEE 52 | 62| 114 [ 37.2| 76.8| 6474 | 5@ K 50 | 48 98 ]20.4] 77.6] 7T17fi |#xl & 56 | 50 | 106 | 27.6] 78.41 787fc | 8% I 49 | 46 | 95 | 15.6] 79.4
578fi | Kim A 41| 55| 96 | 19.2| 76.8| 648f% | R 1=8H 50 | 48| 98 120.4| 77.6| TI8fi |XBEH EF 54 | 52 | 106 [ 27.6] 78.4] 788f | Al S2ah 52 | 49 | 101 | 21.6] 79.4
579f | fEE kg 38 | 52| 90 13.2| 76.8| 649fz | /T Ep% 50 | 48| 98|20 4] 77.6]| 719fi |#&R &%k 50 | 50 | 100 [ 21.6[ 78.4] 789f |EH &< 54 | 53 | 107 | 27.6] 79.4
580fi | #ARE  HHE 51 | 44| 95]18.0[ 77.0| 650fz |FEHE [&F 50 | 48| 98 [20.4] 77.6]| 720 |m% = 50 | 50 | 100 [ 21.6[ 78.4] 790 | =% 3&F 57 | 56 | 113 | 33.6] 79.4
68111 | BRI AIE 48 | 41| 89(12.0[ 77.0|| 6514 | sk {£4% 55 | 55| 110 | 32.4| 77.6|[ 721fi |8 AE 53 | 53 | 106 | 27.6[ 78.4] 791 |[xH {=BA 49 | 52 [ 101 [ 21.6] 79.4
582 | IO AB 59 | 54 | 113 36.0] 77.0| 652fi |t&m —& 46 | 46 | 92 | 14.4] 77.6|[ 722fi | %#E IEBH 47 47| 94 [15.6] 78.4]| 792fi |&5% mE 49 | 52 | 101 | 21.6] 79.4
583fu | &M Hm— 50 | 45| 95 [ 18.0] 77.0][ 653fi | M4t 2R 43| 43| 86| 8.4] 77.6][ 7123fi |3 F— 47| 471 94 [15.6] 78.4| 793fi | =8 mE 49 | 52 | 101 [21.6] 79.4
5841 | flok  &E 53 | 48| 101 [ 24.0| 77.0]| 654fi |F+E %2 46 | 46 | 92 | 14.4] 77.6|[ 7244 [4RNI HEnkE 431 45| 88| 9.6] /8.4 794 =4 R 57 | 62 | 119 [ 39.6] 79.4
585 | IUA 457 58 | 55| 113 |36.0] 77.0|| 655f% | Fisx Z&8A 49 | 491 98 120.4] 77.6]| 7251 |MF @& 52 | 54 | 106 | 27.6] 78.4| 795 |ILE j&fr 47| 54 | 101 [ 21.6] 79.4
58647 | FE KB 55 | 52 | 107 | 30.0| 77.0|| 656f% | fu&h H= 48 | 50 | 98 [20.4] 77.6] 726fi | KR ¥ 57 | 61| 118 | 39.6] 78.4| 796fu | flk Zeis 65 | 72 | 137 | 57.6] 79.4
58741 | M &k 52 | 49 | 101 | 24.0[ 77.0]| 657fi | &M JAim 45 | 471 92 | 14.4] 77.6] 727f: |TEEH 47 | 53 1 100 | 21.6] 78.4 797f% | kK A 47 | 54 | 101 [ 21.6] 79.4
588fi | @M 51 | 50 | 101 [ 24.0 77.0]| 658ff |&F == 48 | 50 | 98 [20.4] 77.6] 7281 | &I 3WK 53 | 59 | 112 | 33.6| 78.4| 798fi |fE&RAK @M 43| 58 | 101 [21.6] 79.4
580f% | trsh {B5% 48 | 47| 9518.0] 77.0]| 659f% | &1L ki 42 | 44| 86| 8.4] 77.6] 729 | Kk 1=t 46 | 54 | 100 | 21.6] 78.4|| 799fi | AERHL BAMA 46 | 42| 88| 8.4] 79.6
5001 | M Fnit 51 | 50| 101 | 24.0] 77.0|| 660f | FH %K 48 | 50 | 98 |20.4] 77.6]| 730fi |%pk iEfA 371 51| 88 9.6] 78.4| B800fi | FIE =18 48146 | 04 | 14.4] 79.6
5011 | & [hdet 50 | 51| 101 | 24.0] 77.0]| 661f: | @A f2— 45 | 47 92 | 14.4] 77.6| 73141 | =& Rk b4 | 45 [ 99 [20.4] 78.6] 801fz |/\AME I#0 51 [ 49 [ 100 [ 20.4[ 79.6
502{% | &3 = 44 | 45| 89 ]12.0] 77.0| 662fz | AIR ESF 4715 98 [20.4] 7761 7326 [¥AR & 53 | 46 | 99 [ 20.4] 78.6 802f% | &M = 48| 46| 94 | 14.4] 79.6
593(% | A{E  —EQ 47| 48] 95[18.0[ 77.0]|| 663f: |fkik BF 471 5 98 [20.4] 77.6] 7334I | =% Rea 52 | 47| 99 [20.4] 78.6] 803fi |AME Tl 50 | 50 | 100 | 20.4] 79.6
5047 | AR AT 49 | 52 [ 101 [ 24.0] 77.0| 664 | ERE ¥ 44| 48| 92 |14.4] 77.6] 134E |&F 2R 55 | 50 | 105 [ 26.4] 78.6]| B804fi | %€M m— 46 | 48 | 94 | 14.4] 79.6
5051 | # 1= 46 | 49| 95]18.0] 77.0]| 665fz |famH sm— 50 | 54 | 104 | 26.4] 77.6| 735fi | fEA gate 48 | 45| 93 | 14.4] 78.6]| 805z |IBME —ik 49 | 51 [ 100 [ 20.4] 79.6
5964 | { F0g 46 | 49| 9518.0] 77.0][ 666fL | FA¥ TEAER 44 | 48| 92 | 14.4] 77.6] 71361 | HIF 1= 45 | 42| 87| 8.4[ 78.6| 806fu |Awn 7Ee 55 | 57 | 112 [ 32.4] 79.6
5971 | vtk SEH 52 | 55| 107 | 30.0] 77.0]] 667fi | & h 46 | 58 | 104 | 26.4] 77.6] 737fL | EFH 3% 47| 46 [ 93 |14.4] 78.6| 807fi | AERH BhMA 38| 50| 88| 8.4] 79.6
508(% | Rk BE 51 | 56| 107 | 30.0| 77.0]| 668f | A% = 55 | 48| 103 | 25.2| 77.81 738fi |&F F& 43| 44| 87| 8.4] 78.6] 808fi | HAME 56 | 43| 99 | 19.2] 79.8
500(i |#H =AH 48 | 53| 101 | 24.0| 77.0]| 669fz | Aks FH] 55 | 48 | 103 | 25.2| 77.8[ 739fi | ¥ f1as 48 | 51| 99 20.4] 78.6]| 809fi |[EE & 52 | 471 99 |19.2] 79.8
6001 | #n5s  iEth 51 | 56| 107 | 30.0/ 77.01 670fi | K& #=E 54 | 491 103 [ 25.2] 77.8 740fi | ®BE Fik 45| 48| 93 |14.4] 78.6]| B810fir |MHE HFF 51 | 48 99 | 19.2[ 79.8
6011z | &R {8 48 | 53| 101 | 24.0| 77.0| 671f% | k%% iE— 59 | 56 | 115 [ 37.2| 77.8| 741f% | &M REkE 50 | 55 | 105 [ 26.4] 78.6] 811fL | AF_Hue 56 | 55 [ 111 | 31.2] 79.8
6021 |tk K 49 | 45| 94 |16.8| 77.2]] 672f% o= 47 44 91 |13.2] 77.8]| 742f1 |=EH EE 53 | 58 | 111 [ 32.4] 78.6] 812 |Fial & 471 46| 93 |13.2[ 79.8
6036 | &Il Flld 49| 45| 94 116.8| 77.2][ 673k |k = 59 | 56 | 115 [37.2] 77.8| 743fi | wtsR 50 | 55 | 105 | 26.4| 78.6]| 813fz |MA HE% 51 | 54 | 105 [ 25.2] 79.8
604 | shFt ST 51 | 49| 100 | 22.8| 77.2]| 6746z | K#k FEX 46 | 45| 91 | 13.2] 77.8] 744f1 |EE FHH 50 | 55 | 105 | 26.4| 78.6| 81MI |5 ZH— 50 | 55 | 105 | 25.2] 79.8
605z | midt Ek 51| 49| 100 | 22.8| 77.2]| 675z | #{E EE— 49 | 48 97 |19.2] 77.8| 745f% | &M [5—ER 53 | 58 | 111 [32.4| 78.6| 815fL |meH {&m 53 | 58 31.2] 79.8
6064% | 3ok 1% 48 | 46 | 94 | 16.8] 772 676 | ik =5 M| 44] 85| 7.2] 77.8] 746fz | &M 46 | 53 | 00| 20.4| 78.6] 8I6fi g 52 5 31.2] 79.8
6071 | KR =% 51 49| 100 | 22.8| 77.2]| 6774 |xM 3 471 50 [ 97 |19.2] 77.8|[ T47fi [ LA IEE 46 | 53 | 00 |20.4| 78.6| 81/ | MR = 4915 5 [25.2] 79.8
608fi | #AH EAr 48 | 46| 94 |16.8] 77.2][ 6781 &M & 50 | 53 | 103 | 25.2| 77.8|| 748fi | M §kik 65 | 51 [ 116 | 37.2] 78.8|[ 818fi | M =F 61 | 49 030.0] 80.0
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